
690 Enduro R 2019 <2019><EU><F9703S8>
FRONT FORK, TRIPLE CLAMP

51450

Pos Part Number Description Additional Text Quantity

1* 14188S1001 Fork KTM 690 Enduro R 19 1.00

2 0025080256 HH collar screw M8x25 4.00

3* 79001038000C1 Handlebar clamp 28mm 1.00

4 0032100356S AH-COLLAR SCREW M10X35 ISA45 4.00

5* 83001040000 RUBBER BUSH 4.00

6* 79001039136C1 Handlebar mount D28mm H36mm 2.00

7* 54801036000C1 Steering head screw M20x1.5 WS 1.00

8 0025080306 HH collar screw M8x30 1.00

9 0025080406 HH COLLAR SCREW M8X40 TX40 8.00

10* 2700103422330 UP. TRIPLE-CLAMP 22-24 OFFSET 1.00

11* 79001037034 HANDLEBAR SUPPORT LOWER PART 2.00

12 0770025035 O-RING 25X3,55 NBR70 05 1.00

13* 78101086000 STEERING HEAD COVER 1.00

14 54601184000 STEARING HEAD GASKET TOP 1.00

15 54201081100 TAPERED ROLLER BEARING CPL. 06 2.00



16 77701084000 O-RING SUPPORT W. SEALING LIP 1.00

17* 76501033100 excentric head tube 1.00

18 0933080253 HH SCREW DIN0933-M 8X25 2.00

19 0934080003 Hexagon nut DIN934 M8 2.00

20* 2700103112330 BOTTOM TRIPLE CLAMP 22-24 1.00

21* 54801036100 STE.HEAD SCR. M20X1,5 WS=27 SL SELF-LOCKING 1.00

22 77701085100EB Clamp for brake line 1.00

23 0017060305 Special screw K60X30 WS=6 2.00

24 59001092050 SPECIAL SCREW M6X12,5 WS=8 6.00

25* 77701094100EBF Fork protection kit Enduro R ' 1.00

26 58412080300 REFLECTOR YELLOW ''CEV'' ONLY USA & AUS 2.00

27 76901085050EB Spacer brake hose clamp 1.00
* = New part


